NAME: ENGLISH WORKSHEET CLASS — I

Tick the correct option:-
Q1) Identify the noun in the following sentence:

Steve is a great cricketer.

A) steve, great B) steve, cricketer C) steve

D) cricketer E) None of these

Q2) Fill in the blanks.

The is in the water.

A) Dolphin B) Shark C) Frog
D) Snake E) Duck
Q3) Help Navya to find out the correct noun by choosing the correct option:
A) Cry B) Sing - C) Robert
D) Open E) None of these
Q4) Complete the spelling: POST OFF :
A) ISE t B) IES €) ECL
D) ICE ~ E) None of these
Q5) Identify the pronoun:
A) Fan B) Girl C) Uncle
D) Pen E) None of these
Q6) Identify the pronoun in the following sentence: The doctor treats us.
A) doctor B) treats C) us
D) The E) None of these
Q7) Identify the word which is not pronoun amongst them:
A) They B) She ' C) Wear
D) His E) None of these '
Q8) Make meaningful word from these letters: PEESL
A) PEEL B) SLEEP : C) SWING
D) SEE E) Ncne of these
Q9) Select the word which is a verb:
A) I B) Grass C) Toffee
D) Grow ; E) None of these

Q10) Identify verb in the following sentence: He throws the stone.

A) Stone B) He C) Throws
L D) None of these E) All of these




. Class - I MAMTA MODERi SR. SEC. SCHOOL Subject : English

Tick the correct option- : C’ﬁ
Q1. See the picture and write its singular and plural forms: \i7
a) Man — mans b) man — men ; : 2;.
b) Man - Men’s d) Man - Man'’s e) none of these HJ - ;
Q2. Find the plural of the word given in CAPITAL letters. 1 |
ARMY i T3
a) Arms b) armes c)armyies  d) armies  e) none of these |

Q3. Find the singular of the word given in CAPITAL letters.
WIVES |
a) Wive b) wivy ¢) wife d) wifi €) none of these
Q4. Find the correct synonyms of —
TRIP
a) Journey  b) hold c) clever d) mix €) none of these
ERROR
a) Weep b) proper  c¢) tale d) mistake &) none of these
Q5. Choose the correct antonyms of the underlined word.
1. The pillow is very ~s_“cit-.
a) huge b) hard - ¢) big 'd) good  e) None of these
2. My doll is very beautiful. :
a) happy b) pretty c) ugly d) smart ) none of these
Q6. Fill in the blanks by selecting the correct option.
1. We should throw garbage in the

a) road b) river ) garden d) dustbin  e) none of these

2. Who is writing a - ?

a) letter b)apple - c)chips d) umbrella e) none of these




Worksheet

Q Tick the correct option.
1. In PROTECT which is the fifth letter.

a)E ] e o
by T [] dp[]
2. Which of the following does not start with vowel.
a) Happy [ cegg [
byow [] d) apple []
3.Which is the last letter of our country’s name.
&1 ] c)D
)N [] dA ]
4. In CupBoaRd , how many lower case letter do you see.
)3 W=l A4 ]
b)s [] d)5
5.How do you write the name of your friend on your Birthday invite.
a)sanya [ ] b) SANYA []
b) Sanya [] c)sanyA []
6. Complete the word in the given statement br_ _ h my teeth daily.
a)as [ gyeh [
b)uc ] d)us ]

7. What is the correct punctuation of the given sentence.
: We are Proud Indian

a) WE ARE PROUD INDIAN.L | ) We are proud Indian. []
b) We are proud Indian.  [] d) We are proud Indian. []




EET 10 (F ractice onl
Date
ck the correct answer-
. Fill the boxes as directed.
(el % ()
0 a) 15, 20,35 b) 20, 25, 35 ¢) 15, 20, 25 d) none of these
)2. Largest two digit number is —
) 90 b)01 | 100 d) 99
. If ABC = 123 and BCD = 234 then GHI = ?
456 b) 567 ) 345 d) 789
Wie :
A Which of the following digit in 928 is at hundreds place?
-
S
€ b) 0 )9 d) none of these

%)+ = X:X. what will be the value of * ad +?
ff' @ XX KX XX KX
' LResese:

+ 3 - <> 15 + Q= 19




il T

ick the correct answer.

1. Which subtraction gives you 42 as the answer.

a) 99-42 b) 98 - 56 c) 84-40 d) none of these[

. A man bought sixteen cups. Three cups broke. How many cups are left with

b) 19 ) 13 d) 10

b) 60 c) 50 d) none of these |

(b) 5 ©7 d) 6

g 17

R 4E 20

b) 15 c) 12 D d) 20
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Name

Tick the correct answer-

Q1. What will come next in the sequence?

A O OF
) ) O\

Q2. Which of the following figure has.7 sides.

@3 Which number belongs to circle, square and
(A) 1 (B) 2
(C) 5 (D) 3

Q. Which of the following pair of figures together mal

w (1D (B)I:I - '(C)A

&




For Practice Only ' :
Tick the correct jon.

Q1. How many triangles are there ?.
(A) 12 (B) 13 (C) 10 (D) 14

Q2. P is taller than Q and Q is taller than S. Who is the shortest among them?
(A) P (B) Q (€ S (D) none of these

Q3. Which of the following is lighest?
(A) 1 cotton ball (B) 1 Mango (c) 1 book (d) 10 Kg RICE

Q4. Given below the cost of different things.

S
—
D _
33 28 27 - 25

Nancy goes to the market and buys pop corn. Which one of the following options sho

money she gives to the shopkeeper. .
R e

A PR,

o 8




